EERT “ME WE
B PR A =8

Bk T 37 7 e fE % B MR
ML < %

— 3] =

PR BEENRE ~ BEEENETE » U Bmkes » BE&
TUREA o ZESH 214 » AR RSB IEHEIT REBEHEETE
wLAF 8 R BANEEEe ZaigE T 8 1 [ EEBR U &
7 I o | MR T — g BRSO E B o W BRI REELE
FEMERY o BEARERUE R KB B AR ST - 5 Bk B Kk Ao g
B ABLEST M ED b B BOENE |

R R ~ A ph % > B E— M08 » K AS B » 7T 3K
{77 735z Rl = i S AT M5 — i BB ) B o

LM pome HASE ¢ LRENNE » WRTEE o 2 WS
HEF o 3 K5 o

- BMEKE

L 23t :
A —f K —{
Rt  TRAT D — 1R —%
8 —f  ER b
B (DA~ RN SO ME ARG —
FE] i ) 0 B —f e ]
WP /N —f B —E

2 8B

()W 3945 AR S © A et Sk - A



AW o CERIRGE » REBKE) LIHEE » K

G A—
T T ¥ ¥ Ty j%
G \

A

P IR, 2
r ——"

et

KA
AR 5 R BB S — B B K B > B
BT o BT » IR RS » LG SR L el H K

¥ o
2)iE £k < {*ﬁ@%)
()i 55 & N

I e N =
b ‘ﬁ§é§L
[EHE » HREABFR 3Bd4
ANGEA
BLECE > BUEInEE Lo A RIER 8 EHE
o i HiEE FIFE BRI By o /N IR AUAD /NG S B 5 (L) o

oo

=% B

L Bl B RS e
(1)1 FH 78 W8 B0 1S (] 1 e SR 7RI K /N [ 6 4 ol » g KR
s P B E o ( FHE— )
()] %€ IR
(@) I A /N @ ey i = o
(b) 7K # DAL B /N s BE AP (O Sk ) s dme > BT
MR P RAVE o
(35 /NI RYEAR » B BQR)AE o
2 BIEL 5 EBREVES [~ BIBUE -
(DRE]E /)5 B C B 28 NE) )+ DA E (05 RIyg s e o (
B IR /N8 BRE7K B EREYY 5ol BEE D) I RSB A TSRO B ] o



(2 45 B0 D /N R C IRES D) » BRI LT 0

B B e
M-3R
1K
— \ ‘
#— K EE
S 78 28
K 45 17. 87
33 13.66
78 18.26
Ha 45 10.91
33 8.24
78 - 13.81
7N 45 N 8.0
33 5.91
78 8.57
(- 45 5.25
33 3.8

o445 6 7RI g 1 2 4% B AN O S S A o
- I B BT R R o

10



It B 5 Bl — - AT » 1R B Ko ) S B3
Bo

2. 7K 14 R 1 -

e i — MR MO » S AR B o 5% SR K
LR (0 S o

3 BT HERE W RO AL AT DR > GEBCRBEK o HIBEEH
BSEL » ST S K B B S o

4. ) SR 1L RO

B R SR R 7P R0 RS B B o

5. C P BLAT 3= ) 12 72 BRI BRI B 4%
6. BlELE Eah ey & b E) ” BUE
(/EFEEE © 45.5¢cm
)/ N R OB BERREE )
( 2.1 )#&45.5cm Fr THIKE H

F
R B M () BEFEH | HECecm /)
@ | 5.4 5.4 5.6 5.46 8.33
b) | 4.2 4.2 4.1 4.2 4.1] 4.16 10.93
© | 9.3 9.4 1 9.35 4.85

(3) V5 HELZE (Y Vsl C P (RIS L ) ¢
Wl 7.4 7.1 7.1 7.2
HE 6.3 cm /B

(4)HEE R

L SR/ N AR S

74 7.2

11



W] K ) | £ A | R R HfE
@[3.53.1 3.13.1]| 3.2 | 14.2 |8.346.3=14.6 |~
2.9 2.6 275 16.8  [10.94+6.3=172 |~
©l4.4 4.2 4.6 | 4.4 |10.3 |4.85+6.3=11.15 | ~

U S 52 R JISE L Y 0 o
(5)B B8 3 IR 2SO

* =
AHSE S (BEEICED | BGE P 55 FRES | CGHHSEEE ) / (B
6.d HEL 2o 1 11 | 152 4.14
AN B
14.2 3.2 11 3.43 4.11
16.8 2.75 11 4 1.2
10.3 4.4 11 2.5 4.12
CHSRE D> /BB ) =4.14 (JFHEZ FHEE)
H o~ HE e
o5 L HRsE K AR HEE > BEl— o B AKYSEE ABEE 1
, ) |
ﬁ 15,13cm/ @ % <
#07  Ew15.13 L
T T T T T T T e e e e e ————— e o =TT TR
H15 ‘ - Tx
i/,/—»—”“’ X X |
T T x K A B E
1071 | o5 Bl i T —
5-_
0 1 2 3 4 FEH

12



L Hye =K (R S S — 7 BB BRI - #Y

15.3cm/ # |
9 physk = Bl U SR 45 I 52 AR G BRI IR HOBR 6
(HBEE+BEE) /2=@Lk& - AARD
( B+ )2 =FLFEKE
2.0
X
-0 X ¥ X X X
% X 'Y
0.0
| 2 3 4 5
8 (2) Lt
3 HhEMNE
(&a)(%*%)/Z%KQ%E%Eﬁ
4 VS Ve
f&—%fw' ///
L/ -
57 //\&El*>-<3 //
b4 X_:/g/ igi&?-z/ /@%
3 //é l// 7 - ;2
2 7 ;% g
// ///
14 // -
al

¥ 1 f t ¥ e
0 92 4 6 8 10 12 14 16 18 20 O
13



(3.b )EH%‘%EE?%:
(R e - )/ 2=b JEX (KEEE /K HED

BAR: (BEE-HEE) /2=81LEEx (K
<§> | B S/ K P ) e AX®
2
X
| mwmu““ww_,wﬂ_nm”“_z_”“_f; X Z191.03
X < <
X
% b4 X

° 3 4 5 & ;

q1P) BrRE

4 HIFEA (BEEE SR BB © 0 C R =)
HE S g (Y 9 2 = R N R R AR X
(s 50 - 9 258 DL e )
C P D

14



BESTEE

B
1 (16.3,4)
(14.2,3.43)
3-»-
(10.3,2.5)
21
14
5 2 4 6 8§ 10 12 14 16 18 20  IRELEE
2NN M
HARO@uE : ( Bk )
( B ERHEE) =
‘ _ C e )
( R REHE ) X n
A CH )+ R B )
HHEEAROA G » 7
( AR E S EEIRA ) = (R KRB AR ) X
C o fEsE ) 4 (B s T E S EE )
C PR ) + C P JE B R )
FREE ¢ A TE A S A TR b 2 BRI o DR R R R K B

ATRE /R Z &0 A o P KA o o TR s I 1T HER - K
FRHE AR B RSO » B I AR o FERE M | ARSI 43
B A RUAIEA °

15



